HAB :2016.3.4 15:19
TS5 Ry=THA (0~17)
BIf24E A H :20164E03H 04 H (&)

W H ik TN T 4 x& ;W

fEf=—=  :0UT IN
eRkonvs 1 5HE36.0 Z1E36.0
EpLIREFE vy Frd - Aa7a—F Avrbivs BMAY : DRETA IO BH2TA

NEAL BINE K4 OUT | IN GROSS HDCP| NET caossam; =
|

1 |H# WH 41 39 8013.0 |67.0 | 3 MEBE

2 A 41 36 77/ 9.0 68.0 | 1 BG YEMERE

3 |fER XEER 44 41| 85/16.0 |69.0 | 8 | AJL

4 |BmE E—ER | s 41 82[13.0 [69.0 | 5 AN

5 |+ 40 40 80/11.0 [69.0 AH

6 |\FRM ZTWHE 38 39| 77 80 69.0 | 1 BG A

7 |FABp =—ER 44 41| 85/15.0 70.0 | 8 |AK

8 |7 %H 42 43| 85/15.0 70.0 8

9 B4 46 39| 85/13.0 72.0 | 8

10 Bl 3B 42 40| 82/10.0 72.0 | 5

11 &g =5 L 44 44| 88/16.0 (72.0 | 13

12 |LFH g2 44 44 8815.0 |73.0 | 13

13 |F #— | 41 43,  84/11.0 |73.0 | 7

14 |BEAT #kFn | 41 45| 86(13.0 [73.0 | 12

15 | ki BEAT 46 43| 89/15.0 |74.0 | 15

16 |fEXk H— 45 44| 89|15.0 74.0 | 15

17 |E4 42 48| 90/16.0 [74.0 | 19

18 |HEE BESr | 43 48/ 91/16.0 |75.0 | 21

19 B4 | 45| 44 89/13.0 |76.0 | 15

20 |BRA Mi— 46 43| 8912.0 [77.0 | 15 |

21 A& #i= 50 46| 96(17.0 79.0 @ 22 |

22 |JIlo % | 42| 48 9010.0 [80.0 | 19

23 EEME 1EH 47 49/ 96|14.0 (82.0 | 22

24 |E4 50 46| 96/13.0 (83.0 | 22

25 |E4 50 49| 99/16.0 83.0 25

26 |/INEF Feik | 52| 53 105/17.0 [88.0 | 26

27T BB SFA 53 53 106/14.0 |92.0 | 27

1/ 1 AfMEdILTS



HAHB :2016.3.4 15:21
75 R=T#B (18~30)
BEfE4E R B :20164E03 H 04 H (&)

BE T ST H =T o K& HE

fER=—X :0UT IN
oy F  EHES6. 0 36,0

IR ERE vy Frd - Za7a—F o by y BMAK ¢ BEBA KON ARHBA

JIERL ZNE K4 OUT | IN GROSS|HDCP| NET |crossi s
1 Al B 43 40| 83|18.0 |65.0 | 1 |BG MERE
2 EI B 48| 49| 97/28.0 |69.0 | 9 |uEpEmE
3 |LHE £E 41 46| 87/18.0 (69.0 2 AK
4 |EL 50 45 9525.0 70.0 | 7 |AK
5 A FFE 46| 44/ 9020.0 |70.0 | 3 |AK
6 |BARE HZ , 48| 49  97/27.0 |70.0 | 9 |AK
7 |BK F 48 44| 92|21.0 |71.0 | 4 |AK
8 | ElR 49 48| 97|23.0 |74.0 | 9

9 PR Ef 46 46| 92/18.0 |74.0 | 4

10 |F EX 46 49| 95/21.0 74.0 | 7

11 | =28 | 47| 46| 9318.0 75.0 | 6

12 | KK EfE 50 51 101/26.0 |75.0 | 17

13 [/NEE {8k 49 48  97/21.0 [76.0 | 9

14 Wi B2 48 51| 99(23.0 [76.0 | 15

15 JIIAR Eia 52 46| 98/20.0 |78.0 | 13

16 |HEEF IEBA 50 49/ 9921.0 78.0 | 15

17 A A 49 53/ 102|24.0 [78.0 | 19

18 | A &7 50 48| 98/19.0 |[79.0 | 13

19 |E4 | 49| 53/ 10223.0 79.0 | 19

20 |RRHR 1= 53 48 101/21.0 |80.0 | 17

21 |E4 50 53| 103(23.0 |80.0 | 21

22 |[/hGR 18ER 53 51| 104/23.0 [81.0 | 22

23 HAK R 56 56 112(30.0 (82.0 | 25

24 U4 FEXER 52 60| 112(30.0 |82.0 | 25

25 LA i 54 51| 105(20.0 [85.0 | 23

26 |4 T 52 55| 107 19.0 88.0 | 24

27 |REJR =R 59 58 117|25.0 (92.0 | 27

E4 SHE

1/ 1 mERdILTE



